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Warm Up
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Derivative Rules




Day 38 - Transcendentals Review after.notebook April 10, 2014

Quiz Monday: Derivatives of Transcendental Functions

e Inverse Trigonometric Functions
» Exponential Functions
o Logarithmic Functions

Practice Test
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4. Find% at x=0 given that z=sin "' (y—3)-»° and vy =3¢ +x°
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AP Calculus 120


Review: Derivatives of Transcendentals

1.  Differentiate each of the following:  (DO NOT SIMPLIFY SOLUTIONS)
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2. Use logarithmic differentiation to find 
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3. Determine 
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4.  Find 
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5.  Given 
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Review: Derivatives of Transcendentals
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2. Use logarithmic differentiation to find 
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3. Determine 
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4.  Find 
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5.  Given 
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1.  Differentiate each of the following:  (DO NOT SIMPLIFY SOLUTIONS)
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2. Use logarithmic differentiation to find 
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3. Determine 
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